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NEW QUESTION 1

Your organization is planning for a periodic counting of individual items automatically throughout the course of the year. As part of this activity, the user has loaded
items to the cycle count but some of the items are not being considered when count schedules and count sequences are not generated.

Identify two reasons that explain why the items are not being considered.

A. The ABC assignment group is not defined.

B. The Include in Schedule option is not selected to include the item for auto-scheduling.
C. The Cycle Count Enabled flag is not selected for the inventory organization.

D. The Cycle Count Enabled flag is not selected for the item.

E. The approval controls are not set up.

Answer: DE

NEW QUESTION 2
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalancelmportTemplate.xlsm

B. InventoryReservationimportTemplate.xlsm
C. InventoryTransactionimportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 3

You set up an item organization and an inventory organization as part of your customer’s requirement. Your customer has, by mistake, performed a receipt
transaction in the item organization instead of the

inventory organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.

B. Perform a return of item and receive the item again in the correct organization.

C. Itis not possible to receive item in the item organization.

D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect any other operation.

Answer: C

NEW QUESTION 4
Which two features are provided by the JSTL Core library for a JSP? (Choose two.)

A. iteration over a collection

B. buffering of large result sets
C. testing conditions

D. message localization

Answer: AD

NEW QUESTION 5
Which class do you use to handle an incoming JSON Message as a stream?

A. JsonReader
B. JsonObjectBuilder
C. JsonParser
D. JsonObject

Answer: A

NEW QUESTION 6
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
E. On Hand

Answer: B

NEW QUESTION 7
Given the code fragments:
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@Stateless
public class HRService {
@PersistenceContext(unitName="HRApp-PU")
private Employee findEmployee(String badgeld) {
return entityManager.find(Employee.class, badgeld);
}
public void updateEmployee(Employee emp) {
/ /add code here

@WebServlet(name="HR", urlPatterns={"/hr"})
public class HRServlet extends HttpServlet {
QEJB
private HRService hrService;
public void doGet(HttpServletRequest req, HttpServletResponse res)
throws ServletException, IOException {
String badgeld = req.getParameter("badge");
String name = req.getParameter("name");
Employee emp = hrService.findEmployee(badgeld);
emp.set\Name(name);
hrService.updateEmployee(emp);

}

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);

B. Contex

C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c
entityManager.lock(emp);EntityManager.merge(emp);

D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B

NEW QUESTION 8
An inventory transaction is important to the system through an FBDI template.
Which transaction state denotes that an inventory transaction is created in the Oracle Inventory Management application?

A. Created
B. Validated
C. Deferred
D. New

E. Staged

Answer: B

NEW QUESTION 9

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume that the reorder quantity is 24 and you
specify 10 for the fixed lot multiple and enable rounding the reorder quantity.

What will be the reorder quantity?

Answer: A

NEW QUESTION 10
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How can a servlet indicate to the browser that cookie data should be sent over a secure connection?

A. Call the getSecure(true) method on the cookie object.

B. Encrypt the cookie dat

C. The browser automatically sends encrypted data over a secure connection.
D. Set the ENCRYPT header in the response.

E. Configure SessionTrackingMode.SSL on the ServletContext object.

Answer: A

NEW QUESTION 10

You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count

B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count

E. Blind Inventory Count

Answer: D

NEW QUESTION 14

What is true about Message-Driven Beans (MDBs)?

A. MDBs can participate in transactions.

B. MDBs are invoked synchronously.

C. Each MDBs can process messages only from a single client.

D. MDBs retain data caches between client calls.

Answer: A

NEW QUESTION 16

On the Supply Lines Overview page, the deviations in supply type chart show a supply line status of exception.

What action must you take?

A. This indicates that supply line quantities are available but the quality is not up to the mark, so the quality issue must be resolved.

B. The indicates that supply line has an exception in manufacturing goods, so the supply line must be changed.

C. This indicates that supply line quantities are less than required, so additional quantities must be procured to meet the requirement.

D. This indicates that supply line quantities are not available, so inventory must be procured.

Answer: C

NEW QUESTION 19
Given the code fragment:

@Resource(lockup = "java:comp/ DefaultfMSConnectionFactory")
private ConnectionFactory cf;
ZResource(lookup = "jms/MyTopic")
private Topic topic;
public void action() {
try (JMSContext ctx =
cf.createContext{TMSContext. SESSION_TRANSACTED);) {
IMSConsumer ¢l = ctx.createConsumer(topic, "(grade > 30)");
IMSConsumer ¢2 = ctx.createConsumer(topic, "(grade <= 50)");

}

How are transactions managed?

A. through a single shared transaction across the connection factory
B. through a separate transaction per JMS Consumer

C. through a single transaction for the entire JIMS Topic

D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 23
Given the code sample:

public interface GenericMessenger (
public void handleMessage(Message msg) { }

And:
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TDefault
public class MsgHandler implements GenericMessenger (
public void handleMessage(Message msg) { }
]
And:
mAlternative
public class StnsHandler implements GenericMessenger (
public void handleMessage(Message mse) { }
|
And the next fragment from beans.xmil:
<alternatives>
<class>com.acme.SmsHandler< /class>
< /alternatives:

And this injection point:
@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?

A. SmsHandler

B. MsgHandler

C. None of the abov

D. An exception would be thrown due to ambiguous bean references.
E. GenericMessenger

Answer: D

NEW QUESTION 27
Which URL represents an invalid approach to pass a parameter to a REST resource?

A. <base-url>/Employees?value=1
B. <base-url>/Employees&value=1
C. <base-url>/Employees/1

D. <base-url>/Employees;value=1

Answer: D

NEW QUESTION 32
You have been asked to implement internationalization in your JSF web application. Where do you configure the supported locales?

A. in the <f.view> tag of the Facelet page
B. in the web.xml file

C. in the faces-config.xml file

D. in the src folder

Answer: A

NEW QUESTION 34

Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and the transfer order is created though the
FBDI process.

What is the primary interface data that needs to be completed in the template?

A. CST_|_INCOMING_TXN_COSTS
B. INV_SUBINVENTORY_TRANSFER

C. INV_TRANSACTION_LOTS_INTERFACE
D. INV_SERIAL_NUMBERS_INTERFACE
E. INV_TRANSACTIONS INTERFACE

Answer: E

NEW QUESTION 36
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface

B. the ManagedExecutorTask interface
C. the TaskEventListener interface

D. the ManagedTaskListener interface

Answer: D

NEW QUESTION 37

You are currently implementing Oracle Cloud for the Singapore entity of your multinational customer. Their head office is located in Japan. Apart from Singapore,
their other entities are using a legacy system.

Their requirement is to implement Oracle Cloud in such a way that at the end of the financial year, all their financial reporting should be in Japanese Yen.

How will you fulfill the above requirement?
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A. Define one primary ledger with Japanese Yen currency so that all the subledger data gets converted to Japanese Yen automatically.

B. Define one primary ledger with SGD (Singapore Dollars) as primary currency and use the reporting currency functionality to provide the necessary data in
Japanese Yen currency.

C. This requirement cannot be fulfilled.

D. Define two ledgers one in SGD (Singapore Dollars) and one in Japanese Yen and transfer data of all the subledgers in these two primary ledgers.

Answer: B

NEW QUESTION 38
You face a supply request exception due to some reason. You realize that you need to make some changes to the Manage Supply Request Exceptions page.
Which action will you perform?

A. The supply request cannot be update

B. The only way is to resolve the error in the source application and resubmit the request.
C. The supply request can be updated using a third-party application only.

D. Update the supply request and submit i

E. The errors will be resolved automatically.

F. Update the supply request and make sure errors are resolved before resubmitting it.

Answer: A

NEW QUESTION 40

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business Intelligence (OTBI) KPI to review the list of
standard reports which is useful for their current business scenario. When navigating to reports and analytics, the warehouse dashboard doesn’t show any KPI
watchlist.

Identify two causes. (Choose two.)

A. Logistics Business Intelligence Analytics is enabled.

B. Logistics Business Intelligence Analytics is not implemented.

C. Organization is not enabled for warehousing.

D. Data permissions for the organization being referenced are not set up.

E. Supply Chain and Order Management Business Intelligence Analytics is not enabled.

Answer: BE

NEW QUESTION 41
Given the following class definition with numbered lines:
T Alternative
public class ShoppingCartMock implements ShoppingCart {
EOverride
public void checkout() {...}
}

How do you specify to use this mock CDI bean implementation instead of the regular implementation class?

A. Use the alternatives element in the beans.xml file and specify the class name in the class element within it.

B. Start up the server with the optional —alternative command-line option, specifying any alternative class hames in a comma-separated list.
C. Reorder the implementation names in the beans.xml file such that the desired alternative is listed earlier.

D. Delete the regular implementation class from the WAR.

Answer: B

NEW QUESTION 45
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments

B. Orders Completed in Full

C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 48

Your company has multiple inventory organizations where goods are transferred internally. A user has created a new organization but new organization is
unavailable when creating an interorganization transfer.

What is the missing setup?

A. Inventory organization data access for users is not set up.

B. Interorganization Parameters are not set up between the organizations.

C. The destination organization transfer type is In Transit.

D. The source and destination organization doesn’t belong to the same legal entity.

Answer: D

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



\07 Exam Recommend!! Get the Full 1z0-900 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://lwww.surepassexam.com/1z0-900-exam-dumps.html (142 New Questions)

NEW QUESTION 50
A Persistence application locks entity x with a LockModeType.PESSIMISTIC_READ lock type. Which statement is true?

A. LockModeType.PESSIMISTIC_READ is the synonym of LockModeType.READ

B. This operation will force serialization among transactions attempting to read the entity data.

C. This operation will result in a TransactionRolledbackException if the lock cannot be obtained.

D. If the application updates the entity later, and the changes are flushed to the database, the lock will be converted to an exclusive look.

Answer: B

NEW QUESTION 54
Which three applications originate a buy request that is received by supply chain orchestration?

A. Purchasing

B. Inventory

C. Order Management

D. Planning

E. Self Service Procurement
F. Accounts Payable

Answer: BCD

NEW QUESTION 55
You have been assigned to the Widget Editor portion of an application. It contains a Widget Editor Facelet page, the Widget class, and a simple WidgetEditor
backing bean, which contains a reference to the current Widget instance.
Given the code fragment from the Widget class:
public class Widget implements Serializable {
private String naine;
private Date createdDate;
private boolean approved;

}

Given the code fragment from the Facelet page:
<h:form id="widgetForm">
<h:outputLabel for="name" value="Name:"/ >

<h:messages id="messages"/ >

<h:inputText id="name" value="#{widgetEditor.widget.name}" />
<h:outputLabel for="createdDate" value="Created Date:"/>
<h:inputText id="createdDate"
value="#{widgetEditor.widget.createdDate}"/> <!--Linel-->
<h:outputLabel for="approved" value="Approved:"/>
<h:selectBooleanCheckbox id="approved"
value="#{widgetEditor.widget.approved}"/>
<h:commmandButton value="Save" action="#{widgetEditor.save}"/>
</h:form=

The page displays Conversion Error when a user fills out all the form fields and clicks the Save button. Which step do you perform to fix this problem?

A. Replace Line 1 with:<h: inputText id="createDate"value="#{widgetEditor.widget.createdDate}’converter="java.util. Date”/>

B. Enclose the code fragment within the <f:view/> tag

C. Insert <f.convertDateTime"/> at Line 1

D. Replace Line 1 with:<h:inputText id="createDate"value="#{widgetEditor.widget.createdDate}"><f.convertDateTime pattern="dd-mm-yyyy"/></h:inputText>

Answer: D

NEW QUESTION 56
Your client wants the purchasers to be able to run the min-max for items under their control and then manage the POs created out of these.
Which parameters can they use to be able to do this?

A. Planning Level

B. Sort by

C. From Item to Item

D. From Buyer to Buyer

E. From Planner to Planner

Answer: C

NEW QUESTION 60
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction

B. Obligatory Jurisdiction

C. Local Jurisdiction

D. Income Tax Jurisdiction

E. Transaction Tax Jurisdiction
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F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 63

Your customer is managing a large sales team divided in two different geographies in the USA. They have the Est Coast sales team and the Central sales team.

Both teams are handled by one manager and perform the same function.

Your customer wants to track the expenses of the two teams separately; however, they do not consider them different as they are handled by one manager only.

How will you fulfill the requirement?

A. Define them as a single department and two separate cost centers.
B. Define them as two separate departments and a single cost center.
C. Define them as one department and one cost center.

D. It is not possible to fulfill the requirement.

Answer: A

NEW QUESTION 67
Given the code fragment:

public class Bean {
j

@SessionScoped

public class Service {
TIngect
private Bean bean;

}

Assuming this bean is used only in the code fragment above, how long will the injected Bean instance be available?
A. for the lifetime of the enterprise application

B. for the lifetime of the request

C. for the lifetime of the session

D. for the lifetime of the Service object

Answer: D

NEW QUESTION 69

Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own manufacturing and distribution centers located

globally.

It has these business units: US - USA business unit

CAN - Canadian business unit UK - UK business unit

MX - Mexican business unit IND - India business unit SPA - Spain business unit FRA - France business unit
NL - Netherlands business unit GER - Germany business unit

These are the inventory organizations that exist in each business unit:

Inventory Org - business unit

GM  (Master Org) = US

USl (Child Org) = US
Us2  (Child Org) = US
CAl (Child Org) = CAN
MX1 (Child Org) = MX
IN1  (Child Org) = IND
SP1  (Child Org) - SPA
FR1 (Child Org) = FRA
NL1  (Child Org) = NL
DEL  (Child Org) - GER

Which two statements are true?

A. All inventory organizations do not need to be in the same business unit to assign items.

B. Iltem organizations are also supported to serve as inventory organizations.

C. Iltems cannot be assigned to inventory organizations across business units.

D. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.
E. Operational Attributes can be controlled only at the Master Level.

F. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

Answer: AD

NEW QUESTION 72

In Supply Chain Orchestration, Automated Change Management performs which two functions?
A. change to need by dates of a purchase order

B. splitting of a sales order
C. changing the ship method on a sales order

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\l;/ Exam Recommend!! Get the Full 1z0-900 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://lwww.surepassexam.com/1z0-900-exam-dumps.html (142 New Questions)

D. change to item attributes
E. changing the supplier on a purchase order

Answer: AB

NEW QUESTION 75
Which two elements CANNOT be injected by using an @Inject annotation? (Choose two.)

A. static fields

B. instance fields declared final
C. concrete methods

D. abstract methods

Answer: BD

NEW QUESTION 79
What are two outcomes when a lot expires on an item with lot control enabled?

A. It remains an inventory, but is not considered on-hand when the user is performing min-max or reorder point planning calculations.
B. It is issued out of stores.

C. It cannot be transacted.

D. Itis not included in cycle counts.

E. It cannot be reserved for a date beyond the expiration date.

Answer: AE

NEW QUESTION 84

In the Back-to-Back (B2B) Order to Cash flow, ordered items are purchased from a supplier. The Sourcing Rules have been defined for the item and the buy flow
has been initiated. The sales order line is shown as Awaiting Shipping and the supply line status is in “Purchasing” with the supply order generated but the
purchase requisition not generating.

What is the reason?

A. The sourcing rule is incorrect.

B. Supply order is generated with exceptions.

C. Prepare is not valid.

D. No Blanket Purchase Agreement (BPA) exists for this supplier-item combination.
E. Buy requests originate from Order Management.

Answer: A

NEW QUESTION 86
What are the four steps for the move request process flow?

A. Create shipment

B. Create Movement Request

C. Confirm pick slips

D. Run the Movement Request Pick Slip Report
E. Physically move the material

F. Run pick slip allocation

Answer: BCDE

NEW QUESTION 87
Which two capabilities are provided by the Java Authentication and Authorization Services (JAAS) API? (Choose two.)

A. protecting data from unauthorized viewing by using encryption
B. verifying that a user is allowed to perform an action

C. ensuring that data is not modified in transit

D. verifying identity claims from users

Answer: BC

NEW QUESTION 89

The Applications Development Framework Desktop Integration (ADFdi) user interface is supported in Oracle Fusion Receiving, Inventory Management, and
Shipping products.

Identify four ADFdi user interfaces that are supported.

A. Upload ASN or ASBN

B. Manage Lot/Serial Interface

C. Manage Inventory Transaction Correction in Spreadsheet
D. Review Receipts Interface

E. Review Count Interface Records

F. Manage Shipment Message Interface

Answer: BCDF
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NEW QUESTION 94
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService

B. using the ManagedExecutors utility class to define the execution properties

C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 95

You have an organization that runs both its domestic and international business from the same offices. However, the organization does not want the domestic side
of the business to be able to transact on the international side, even though they are selling the same material.

How do you configure your enterprise to meet this requirement?

A. Set up the domestic and international businesses as separate operating units.
B. Set up the domestic and international businesses as separate projects.

C. Set up the domestic and international businesses as separate business units.
D. Use data access security to separate what each customer can control.

E. Set up the domestic and international businesses as separate cost centers.

Answer: C

NEW QUESTION 98
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